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EXERCISE 10F
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@D Write down the value of each of the following.

a 3.1x10

b 3.1x100

c 3.1 x 1000

@ Write down the value of each of the following.

a 6.5x%x10

b 6.5x%10°

e 6.5%x10°

Write down the value of each of the following.

a 3.1+10

b 3.1 +100

c 3.1 = 1000

@ Write down the value of each of the following.

a 65+10

@ Evaluate the following.

a 2.5x100

e 20.789x 10

i 0.999 x 10°

m 0.003 4578 x 10°

Evaluate the following.

a 2.5+ 100

e 20.789 + 100

i 0.999 +10°

m 0.003 4578 + 10°

b 6.5+ 10?

b 3.45x10

£ 56.78 x 1000
i 234.56 x 102
n 0.0006 x 107

b 3.45+10

f 56.78 + 1000
J 234.56 + 102
n 0.0006 + 107

c 6.5+10°

c 4.67 X 1000

g 2.46 x 10°

k 98.7654 x 10°
o 0.005 67 x 10*

e 4.67 + 1000

g 2.46 + 102

k 98.7654 + 10°
o 0.005 67 + 10*



